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AS Level Law - Component 1

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 553 2.6 1.8 6 42.6 98.4
2 557 3.8 1.3 6 63.5 99.1

3a 179 3.4 1.4 6 57.4 31.9
3b 177 9.6 4.3 18 53.5 31.5
4a 376 3.7 1.6 6 61.5 66.9
4b 375 8.8 5.5 18 48.7 66.7
5a 122 2.7 1.7 6 44.4 21.7
5b 120 5.7 4.3 18 31.7 21.4
6a 430 3.7 1.3 6 61.8 76.5
6b 426 10.6 3.9 18 59 75.8
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AS Level Law - Component 1 

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.


	Eduqas 2017 Online Exam Review
	AS Level Law Component 1
	Item Level Data
	Facility factor graph
	Question 1
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked


	Question 2
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked


	Question 4
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked


	Question 6
	Mark scheme
	Example 1
	Example 1 marked
















Sticky Note

A good answer where the candidate offers an explanation to begin and explains the significance of the enabling Act. Terminology used well.



Sticky Note

Candidate has shown knowledge and understanding of the controls on delegated legislation.



Sticky Note

Good comment. Often this is missed.








barfoc

Sticky Note

Application to the scenario is essential for the 18 mark question in Section A.




barfoc

Sticky Note

Good use of key terms and examples used to support.



barfoc

Sticky Note

Example used to support – case.







barfoc

Sticky Note

Candidate has explained the controls well and to achieve the final few marks available, some further reference (and a conclusion) relation to the scenario was needed.
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Question 4


Read the text below and answer part (a).


The Environment Department has recently become concerned by the increase in un-cleared dog 
mess across the country. Parents have also started to become quite vocal about the mess and a 
small group descended upon Parliament to make a complaint and to stage a protest.


(a) Explain, with examples, what is meant by delegated legislation. [6]


Read the scenario below and answer part (b).


The Environment Department would like to pass a Statutory Instrument imposing a £5000 fine for 
any dog owners who do not clean up their dog mess.


(b) Using the scenario above and applying your understanding of delegated legislation,
advise the Environment Department on the ways in which their delegated powers could
be controlled. [18]
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Write the two digit question 
number inside the boxes next 
to the first line of your answer 


Answer 


4 111111 1 11111 11 
8704 


Leave 


blank 







Write the two digit question 
number inside the boxes next 
to the first line of your answer 


Answer 


5 111111 1 1 11 1111 
8705 


Leave 
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6. (a) Explain the main methods of Alternative Dispute Resolution (ADR). [6] 
 


Indicative content 
 
NOTE: The content is not prescriptive and candidates are not expected to mention all the 
material mentioned below. Each answer will be assessed on its merits according to the 
assessment grid and the indicative content. Examiners should seek to credit any further 
admissible evidence offered by candidates. 
 
In explaining how magistrates are appointed, candidates are expected to demonstrate 
knowledge and understanding of the English legal system and legal rules and principles 
underlying the main methods of ADR. In demonstrating this knowledge and understanding, 
candidates are required to be aware of the differences between the main methods of ADR. 
The response might consider issues such as: 


 
 Definition of ADR – alternative to litigation. Aimed at getting parties to settle dispute 


 without the need for court action 


 4 main forms of ADR though candidates may mention others such as Ombudsmen 
o Negotiation – informal. With or without a solicitor 
o Mediation – third party mediator helps parties reach a solution. Third party 


plays a facilitative role. Examples of mediation – Mediation, Information and 
Assessment Meetings (MIAMs), small claims mediation, etc. 


o Conciliation – third party conciliator plays a more active role and will suggest 
areas of compromise. Examples of conciliation – ACAS, pre-claim conciliation 


o Arbitration – governed by the Arbitration Act 1996. Formal, binding decision 
known as an ‘award’. Adjudicative – arbitrator imposes decision on the 
parties. Scott v Avery clauses. Examples of arbitration – sports arbitration 


 
Assessment Grid for Question 6(a) 
 


Band Marks 
AO1: Demonstrate knowledge and understanding of the 


English legal system and legal rules and principles 


3 5-6 


 Excellent knowledge and understanding of the English legal 
system and legal rules and principles relating to the main 
methods of ADR.  Response is clear, detailed and fully 
developed. 


2 3-4 


 Good knowledge and understanding of the English legal 
system and legal rules and principles relating to the main 
methods of ADR. Response is generally clear, detailed and 
developed. 


1 1-2 
 Basic knowledge and understanding of the English legal 


system and legal rules and principles relating to the main 
methods of ADR. Response includes minimal detail. 


 0 Response not creditworthy or not attempted. 
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 (b) Analyse and evaluate the advantages and disadvantages of the main 
methods of Alternative Dispute Resolution (ADR). [18] 


 


Indicative content 
 
NOTE: The content is not prescriptive and candidates are not expected to mention all the 
material mentioned below. Each answer will be assessed on its merits according to the 
assessment grid and the indicative content. Examiners should seek to credit any further 
admissible evidence offered by candidates. 
 
This is an extended response question where candidates are expected to draw together 
different areas of knowledge, skills and/or understanding from across the relevant 
specification content. In order to achieve the highest marks candidates must construct and 
develop a sustained line of reasoning, which is coherent, relevant, substantiated and 
logically structured; they must also demonstrate their ability to draw together details from 
areas including judiciary, legal personnel and the English legal system.  For example, a 
response may include reference to the increase in the use of ADR following the Woolf 
reforms. Overall, candidates will offer a debate and come to a substantiated judgement 
regarding the advantages and disadvantages of the main methods of ADR. 
 
Candidates will offer an analysis and evaluation of the legal rules, principles and concepts 
in order to evaluate the advantages and disadvantages of the main methods of Alternative 
Dispute Resolution (ADR). In order to analyse and evaluate these aspects, candidates 
may understand that most methods of ADR are consensual rather than adjudicative.  In 
order to fully analyse and evaluate the issue, the response might consider issues such as: 


 


 Definition of ADR – alternative to litigation. Aimed at getting parties to settle 
dispute without the need for court action. Cheaper and quicker, in general. 


 Increased use of ADR since the Woolf reforms, particularly with Rule 1.4 of the 
Civil Procedure Rules. 


 4 main forms of ADR though candidates may mention others such as Ombudsmen 
• Negotiation  


Advantages:  
• Informal; with or without a solicitor 
• Costs reduced 
• Less intimidating 
• Quick resolution 
• Private and confidential 


Disadvantages: 
• Not binding 
• Can take longer if lawyers are involved 
• Can be costly if lawyers are involved 
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• Mediation  
Advantages: 


• Third party helps parties reach a solution 
• Based on compromise and not strict application of the law 
• Relationships can be maintained 
• Aviods adversarial conflict of court 
• CEDR claims over 80% of cases are settled at mediation 
• Cheaper than litigation 


Disadvantages: 
• Mediator’s role is only facilitative 
• Parties have to want to reach a compromise 
• Not normally legally binding 
• If mediation fails, court may be necessary anyway, increasing 


delay and overall cost 
• Amounts paid in mediated settlements often lower than amounts 


agreed in other settlements; weaker party can be forced into a 
settlement 


• More accessible than litigation 
 


• Conciliation  
Advantages: 


• third party conciliator plays a more active role and will suggest 
areas of compromise 


• Can avoid further action – e.g. ‘Early conciliation in employment 
disputes 


• Cheaper and quicker 
• Private and usually informal 
• More accessible than litigation 


Disadvantages 
• Parties have to want to reach a compromise 
• If conciliation fails, court may be necessary anyway, increasing 


delay and overall cost 
• Not normally legally binding 


 
• Arbitration 


Advantages: 
• Formal, binding decision known as an ‘award’ 
• Adjudicative – arbitrator imposes decision on the parties 
• Scott v Avery clauses 
• The parties may choose their own arbitrator  
• Can use experts in the field  
• The hearing, time and place can be arranged to suit both parties 
• The procedure is flexible  
• More informal and relaxed hearing than in court. 


Disadvantages: 
• Parties may not be on an equal footing with regards to legal 


representation 
• Legal aid is not available 
• An unexpected legal point may arise  
• Fees can be expensive for professional arbitrators and formal 


hearings 
• The rights of appeal are limited 
• Delays for commercial and international arbitration  


 


 the nature of law: role of ADR as a method of resolving disputes outside of the court.  
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Assessment Grid for Question 6(b) 
 


Band Marks 
AO3: Analyse and evaluate legal rules, principles 


and concepts 


4 15-18 


 Excellent analysis of legal rules, principles and 
concepts relevant to the advantages and 
disadvantages of the main methods of ADR. Analysis 
is detailed with appropriate range of supporting 
evidence which draws together knowledge, skills and 
understanding. 


 Excellent evaluation of the advantages and 
disadvantages of the main methods of ADR, including a 
valid and substantiated judgement. 


 Excellent citation of supporting case law and 
legal authorities. 


3 10-14 


 Good analysis of legal rules, principles and 
concepts relevant to the advantages and 
disadvantages of the main methods of ADR.  
Analysis is generally detailed with appropriate range 
of supporting evidence. 


 Good evaluation of the advantages and disadvantages 
of the main methods of ADR, including a valid 
judgement. 


 Good citation of supporting case law and legal 
authorities. 


2 5-9 


 Adequate analysis of legal rules, principles and 
concepts relevant to the advantages and 
disadvantages of the main methods of ADR.  Analysis 
includes some detail with some supporting evidence. 


 Adequate evaluation of the advantages and 
disadvantages of the main methods of ADR, including a 
valid judgement. 


 Adequate citation of supporting case law and 
legal authorities. 


1 1-4 


 Basic analysis of legal rules, principles and concepts 
relevant to the advantages and disadvantages of the 
main methods of ADR.  Analysis includes minimal 
detail. 


 Basic evaluation of the advantages and disadvantages 
of the main methods of ADR. 


 Basic citation of supporting case law and legal 
authorities. 


 0 Response not creditworthy or not attempted. 
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Write the two digit question 
number inside the boxes next 
to the first line of your answer 


Answer 


4 111111 1 11111 11 
8704 


Leave 


blank 



The candidate names the main types of ADR (except for negotiation). There is some brief explanation but this is not wholly accurate. A more logical approach would have been to start with a brief definition of ADR and then explain, briefly, each type with an example of each (e.g. MIAM for mediation).



For the 18 mark evaluation question in section B, candidates are encouraged to include an introduction, paragraphed main body and conclusion. 







In order to score highly on this 18 mark question in Section B, there must be analysis and evaluation. Though the candidate does consider some of the main advantages and disadvantages of some of the types of ADR, the answer lacks sophistication and there is a lack of authority to support. There is also some repetition and confusion between the role of the third party. 
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Question 6


(a) Explain the main methods of Alternative Dispute Resolution (ADR). [6]


(b) Analyse and evaluate the advantages and disadvantages of the main methods of
Alternative Dispute Resolution (ADR). [18]
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Section A 
 
 
1. Explain what is meant by intrinsic aids to statutory interpretation. [6] 
 


Indicative content 
 
NOTE: The content is not prescriptive and candidates are not expected to mention all the 
material mentioned below. Each answer will be assessed on its merits according to the 
assessment grid and the indicative content. Examiners should seek to credit any further 
admissible evidence offered by candidates. 


 


In explaining what is meant by intrinsic aids to interpretation, candidates are expected to 
demonstrate knowledge and understanding of the English legal system and legal rules 
and principles underlying aids to interpretation. In demonstrating this knowledge and 
understanding candidates are required to focus on the specific nature of the question 
and not simply give a general answer on statutory interpretation. 


 


The response might consider issues such as: 


 
 Role of the judge in interpreting statutes  


 Aids available include intrinsic aids – internal aids (within the statute itself) 


 Examples of intrinsic aids – the long title, the short title (e.g. Theft Act 1968), 
headings, schedules, interpretation sections. 


 Rule of language – ejusdem generis, expressio unius est exclusio alterius, 
noscitur a sociis. 


 


Band Marks 
AO1: Demonstrate knowledge and understanding of the 


English legal system and legal rules and principles 


3 5-6 


 Excellent knowledge and understanding of the English legal 
system and legal rules and principles relating to intrinsic 
aids to interpretation. Response is clear, detailed and fully 
developed. 


2 3-4 


 Good knowledge and understanding of the English legal 
system and legal rules and principles relating to intrinsic aids 
to interpretation. Response is generally clear, detailed and 
developed. 


1 1-2 
 Basic knowledge and understanding of the English legal 


system and legal rules and principles relating to intrinsic aids 
to interpretation. Response includes minimal detail. 


 0 Response not creditworthy or not attempted. 


 
  












This candidate has provided a definition of an intrinsic aid and some correct examples. However, the examples are not explained and are not all accurate. 












barfoc

Sticky Note

Candidate starts with an explanation of intrinsic aids. 







Sticky Note

Good examples used to support, including legal authority. Examples are explained.
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1. Explain what is meant by intrinsic aids to statutory interpretation. [6]
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2. Explain the stages a Bill must go through in order to become an Act of 
Parliament. [6] 


 
Indicative content 


 
NOTE: The content is not prescriptive and candidates are not expected to mention all 
the material mentioned below. Each answer will be assessed on its merits according to 
the assessment grid and the indicative content. Examiners should seek to credit any 
further admissible evidence offered by candidates. 


 
In explaining the stages a Bill must go through in order to become an Act of Parliament 
candidates are expected to demonstrate knowledge and understanding of the English 
legal system and legal rules and principles underlying the stages a Bill must go through 
in order to become an Act of Parliament. In demonstrating this knowledge and 
understanding candidates are required to focus on the specific nature of the question 
and not simply give a general answer on legislation. 


 


The response might consider issues such as: 
 


 House of Commons, House of Lords 


 Green Paper, White Paper 


 Bills 


 Legislative process: 


 First Reading 


 Second Reading 


 Committee Stage 


 Report Stage 


 Third Reading 


 House of Lords 


 Royal Assent 
 


Band Marks 
AO1: Demonstrate knowledge and understanding of the 


English legal system and legal rules and principles 


3 5-6 


 Excellent knowledge and understanding of the English legal 
system and legal rules and principles relating to the stages a 
Bill must go through in order to become an Act of Parliament. 
Response is clear, detailed and fully developed. 


2 3-4 


 Good knowledge and understanding of the English legal 
system and legal rules and principles relating the stages a 
Bill must go through in order to become an Act of 
Parliament. Response is generally clear, detailed and 
developed. 


1 1-2 


 Basic knowledge and understanding of the English legal 
system and legal rules and principles relating to the stages a 
Bill must go through in order to become an Act of Parliament. 
Response includes minimal detail. 


 0 Response not creditworthy or not attempted. 


 
  
















Write the two digit question 
number inside the boxes next 
to the first line of your answer 


Answer 
Leave j 


blank 



A good attempt and most stages are covered accurately. There is some confusion with the final stage and the answer needed to include an example of an Act. The Parliament Acts could have been cited. 




















Sticky Note

This is a comprehensive and accurate answer with all stages explained. There is also some authority used to support (Parliament Acts).



barfoc

Sticky Note

Unmarked set by barfoc
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2. Explain the stages a Bill must go through in order to become an Act of Parliament. [6]
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c__cV'�C:1 p Y'OCQ c{ u...A:--e oGL;i 
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o-ev 


'--=-.,_______c_-------'-------���-����=fL€:-__._ 


bL 
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8 111111 1 1 111 111 
8708 


Leave 


blank 







Write the two digit question 
number inside the boxes next 
to the first line of your answer 


Answer 
Leave 


blank 












3 
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Question 4 
 
Read the text below and answer part (a). 
 


The Environment Department has recently become concerned by the increase in un-cleared 
dog mess across the country. Parents have also started to become quite vocal about the 
mess and a small group descended upon the Parliament to make a complaint and to stage a 
protest. 
 
(a) Explain, with examples, what is meant by delegated legislation.  [6] 
 
Indicative content 


 
NOTE: The content is not prescriptive and candidates are not expected to mention all the 
material mentioned below. Each answer will be assessed on its merits according to the 
assessment grid and the indicative content. Examiners should seek to credit any further 
admissible evidence offered by candidates. 


 


In explaining what is meant by delegated legislation, candidates are expected to 
demonstrate knowledge and understanding of the English legal system and legal rules 
and principles underlying delegated legislation. In demonstrating this knowledge and 
understanding candidates are required to focus on the specific nature of the question and 
not simply give a general answer on legislation. The response might consider issues 
such as: 


 


 Nature of delegated legislation – secondary legislation. Law created by a person or 
body other than Parliament but with the authority of Parliament.  


 Purpose and importance of the enabling Act. Relevant example. 


 Main sources of delegated legislation, with examples: 
o Orders in Council 
o Statutory Instruments 
o Bye laws 


 


Assessment Grid for Question 4 (a) 
 


Band Marks 
AO1: Demonstrate knowledge and understanding of the 


English legal system and legal rules and principles 


3 5-6 


 Excellent use of the source and detailed knowledge and 
understanding of the English legal system and legal rules and 
principles relating to what is meant by delegated legislation. 
Response is clear, detailed and fully developed. 


2 3-4 


 Good use of the source and knowledge and understanding of 
the English legal system and legal rules and principles relating 
to what is meant by delegated legislation. Response is 
generally clear, detailed and developed. 


1 1-2 


 Basic use of the source and basic knowledge and understanding 
of the English legal system and legal rules and principles relating 
to what is meant by delegated legislation. Response includes 
minimal detail. 


 0 Response not creditworthy or not attempted. 
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Question 4 (b) 
 
Read the scenario below and answer part (b).  


 
The Environment Department would like to pass a Statutory Instrument imposing a £5000 
fine for any dog owners who do not clean up their dog mess. 


 
(b) Using the scenario above and applying your understanding of delegated 


legislation, advise the Environment Department on the ways in which their 
delegated powers could be controlled. [18] 


 
Indicative content 


 


NOTE: The content is not prescriptive and candidates are not expected to mention all the 
material mentioned below. Each answer will be assessed on its merits according to the 
assessment grid and the indicative content. Examiners should seek to credit any further 
admissible evidence offered by candidates. 


 


This is an extended response question. In order to achieve the highest marks a response 
must construct and develop a sustained line of reasoning which is coherent, relevant, 
substantiated and logically structured. 


 


In advising the Environment Department, candidates are expected to apply the full range 
of legal rules and principles that affect the control of delegated powers.  In this case, 
candidates may apply legal rules and principles in relation to both judicial and 
parliamentary controls to the given scenario in order to present a legal argument using 
legal terminology. The response may consider issues such as: 


 


 Why control of delegated legislation is necessary – to maintain 
Parliamentary Sovereignty and so that devolved bodies do not exceed 
their powers 


 


 Control by Parliament: 
- Scrutiny committee 


 Enabling Act 


 Negative resolution 


 Affirmative resolution 


 Super Affirmative Resolution 





 Control by courts: 


 Judicial review 


 Ultra vires – substantive - Strickland 


 Ultra vires - procedural - Aylesbury Mushroom 


 Unreasonableness – Wednesbury, R (on the application of 
Rogers) v Swindon NHS Primary Care Trust 2006 
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Assessment Grid for Question 4 (b) 
 


Band Marks 
AO2: Apply legal rules and principles to given 


scenarios in order to present a legal argument using 
appropriate legal terminology 


4 15-18 


 Excellent application of legal rules and principles 
to The Environment Department’s situation. 


 Excellent presentation of a legal argument using 
appropriate legal terminology, case law and other legal 
authorities relating to the controls on delegated powers. 
The legal argument is detailed, fully developed and 
persuasive. 


3 10-14 


 Good application of legal rules and principles to The 
Environment Department’s situation. 


 Good presentation of a legal argument using 
appropriate legal terminology, case law and other legal 
authorities relating to the controls on delegated powers. 
The legal argument is generally detailed, developed and 
persuasive. 


2 5-9 


 Adequate application of legal rules and principles 
to The Environment Department’s situation. 


 Adequate presentation of a legal argument using some 
appropriate legal terminology, case law and other legal 
authorities relating to the controls on delegated powers. 
The legal argument includes some detail which is 
developed in places. 


1 1-4 


 Basic application of legal rules and principles to The 
Environment Department’s situation. 


 Basic presentation of a legal argument using minimal 
legal terminology relating to the controls on delegated 
powers. The legal argument includes minimal detail. 


 0 Response not creditworthy or not attempted. 


 
  












Accurate but lacking in range. Candidate might have mentioned the  enabling Act and the other types of delegated legislation with examples. 



This is a low scoring answer as the candidate has done little more than name a couple of controls. There must be application to the scenario  and detail for the 18 mark question in Section A.











